

National Government Constituencies Development Fund Board Ndhiwa Constituency P.O Box 61 -40302

Ndhiwa, Kenya

Cell: +254 720352119

Email: cdfndhiwa@ngcdf.go.ke / Website: www.cdf.go.ke

MINUTES OF NG – CDFC MEETING HELD ON MONDAY 11TH SEPTEMBER 2020 AT THE NDHIWA COMMUNITY RESOURCE CENTRE HALL.

MEMBERS PRESENT

1. Wilson Ochola -Fund Account Manager

2. William Ogono -Chairman

3. Maurice Onacho Oyoko -Secretary

4. Pauline Aketch Obosy - Member

5. Sophia Achieng Obungu - Member

6. Charles Odhiambo ~Member

7. Pamela Otieno Olela - Member

8. Beanox Owaga Ojimbi - Member

9. George Otieno -Member

10. Ali Somo ~DCC

AGENDAS

- 1. Opening Remarks
- 2. Reading and confirmation of previous minutes.
- 3. Proposal for FY 2020/2021
- 4. A.O.B

Min Ndhiwa NG-CDFC 01/2020/2021: Preliminaries.

The meeting started at 11.00am with a word of prayer from George Otieno and thereafter the chairman welcomed all members to the meeting and requested all members to feel free.

Min Ndhiwa NG-CDFC 02/2020/2021: Reading and confirmation of previous minutes

The secretary read the minute of the previous meeting. The minutes were proposed by Pamela Olela seconded by Sophia Obungu as true minutes of the day.

Min Ndhiwa NG-CDFC 03/2020/2021: Project Proposal FY 2020/2021.

The Chairman explained to members that they needed to forward the proposals for the 2020/2021 financial year to the NG-CDF Board for approval.

The Fund Account Manager tabled the circular No. NG-CDFB/CEO/BOARD CIRCULARS VOL. dated and explained the need for the committee to adhere to the circular as they deliberate the proposals for the 2020/2021 FY.

The Chairman explained that it was the duty of the NG-CDFC members to look at the ward proposals and come up with the list of projects to be submitted to the NG-CDF Board.

The ward lists of proposals were laid before members ward by ward and members discussed at length and carefully. Members resolved to submit the following list of projects to be considered for funding in the 2020/2021 FY:

Project Name	Project activity	Original Cost	Cumulative Allocation	Amount	Status
Employees' Salaries	Payment of staff salaries	3,506,400.00	0.00	3,506,400.00	Ongoing
Staff Gratuity	Payment of staff Service gratuity	1,127,160.00	0.00	1,127,160.00	Ongoing
Goods and Services	Purchase of fuel, repairs and maintenance of Land rover, Machines and building, printing, stationery, telephone, travel and subsistence, office tea.	1,680,125.69	0.00	1,680,125.69	Ongoing
NSSF	Payment of NSSF Deductions	193,129.86	0.00	193,129.86	Ongoing

NHIF	Payment of NHIF Deductions	129,600.00	0.00	129,600.00	Ongoing
Committee Expenses	Payment of Committee sitting allowances, transport, conferences	1,248,000.00	0.00	1,248,000.00	Ongoing
Goods and Services	Purchase of fuel, Purchase of vehicle and Motor Cycle Tyres, replacement of Land rover seat covers and minor body repairs, repairs and maintenance, printing, stationery, Airtime, travel and subsistence, etc.	1,000,000.00	0.00	1,000,000.00	Ongoing
Committee Expenses	Payment of Committee sitting and Monitoring & Evaluation allowances, transport, conferences and Oversight Committee Expenses.	1,000,000.00	0.00	1,000,000.00	Ongoing
NG-CDFC/PMC Capacity Building	Undertake Training of the PMCs/NG~CDFCs on NG-NG-CDF Related issues and NG-CDFC Staff training & Benchmarking	2,121,030.72	0.00	2,121,030.72	Ongoing
Emergency	To cater for any unforeseen occurrences in the constituency during the financial year	7,198,241.38	0.00	7,192,206.90	Ongoing
Constituency Sports Tournament	Organize Constituency Sports tournaments and Culture events whereby the winning teams will be awarded award of trophies, balls, and games kits to participating teams	2,241,778.00	0.00	2,241,778.00	Ongoing

Environment	Planting of trees in 30 various institutions	2,241,778.00	0.00	2,241,778.00	Ongoing
Bursary Secondary Schools	Payment of bursary to needy students in Secondary Schools.	15,000,000.00	0.00	15,000,000.00	Ongoing
Bursary University/ Tertiary Schools	Payment of bursary to needy students in Universities and Tertiary Colleges and Youth Trainings skills	10,000,000.00	0.00	10,000,000.00	Ongoing
Bursary Special Schools	Payment of Bursary to needy students in the Special Schools	1,250,000.00	0.00	1,250,000.00	Ongoing
NHIF Social Security Programme	NHIF Contribution for old age and vulnerable individuals for 400 people @ 6,000/= in financial year 2020-2021.	2,400,000.00	0.00	2,400,000.00	Ongoing
Ndhiwa Constituency Strategic Plan	Ndhiwa NG-Constituency Strategic plan for 2014 to 2022	3,500,000.00	Funded 500,000 in 2018/19 Fy Funded 2,000,000 in 2019/20 Total Funded~2,500,000	1,000,000.00	Ongoing
NG-CDF Office	Purchase of Office Equipment (2 Generators@450,000,4 Photocopier Machines@250,000)	1,900,000.00	0.00	1,900,000.00	New
Oneno Nam Primary School	Completion of renovation of 2no classroom: fixing of doors and windows, Plastering, Glazing and painting works	700,000.00	Foundation and Walling, were done by the Community Funded	400,000.00	Ongoing

	@ 200,000 per class		300,000/= in 2018/2019 Fy for Roofing and Flooring of 2No. Classrooms		
Koguta Primary School	Completion of 2 no classrooms: Plastering, Flooring(slab), Glazing and painting works @ 250,000 per class	500,000.00	Foundation, Walling, roofing and Fittings were done by the Community.	500,000.00	New
Ototo Primary School	Construction of 4 door pit latrines: Substructure and superstructure to completion	500,000.00	0.00	500,000.00	New
Kamenya Primary School	Completion of renovation of 2 no classrooms: External Plastering, fixing of doors and windows, Glazing and painting works @ 200,000 per class	1,000,000.00	Funded 600,000 in 2019/2020 for Internal Plastering and Flooring	400,000.00	Ongoing
Adek Primary School	Fencing of school Compound and Gate Installation using treated wood posts and barbed wire.	300,000.00	0.00	300,000.00	New
Omoya Primary School	Completion of 1No. Classroom: Fitting, Plastering, Flooring, Glazing and painting works	800,000.00	Funded Kshs.500,000 in 2014/15 for Foundation, Walling and Roofing	300,000.00	Ongoing
Ombo Primary School	Completion of 1No. classrooms: Roofing, Plastering, fittings, painting & finishing	500,000.00	Fund Kshs 300,000 in 2015/2016 for Foundation, Flooring and Walling. The renovation had been done using	500,000.00	Ongoing

			community fund.		
Wayaga Primary School	Completion of 3No. classrooms: plastering, flooring, Glazing and painting@ 200,000	600,000.00	Foundation, Walling, Roofing and Fittings were done by the Community	600,000.00	Ongoing
Poya Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Wirakuom Primary School	Completion of 1no. Classroom; fitting Plastering, flooring & painting	600,000.00	Funded Kshs.300,000 in 2015/2016 for walling and Roofing	300,000.00	Ongoing
Kongo Primary School	Renovation of 2No. Classrooms: Replacement of Iron Sheets, Fittings and Painting @ 250,000	500,000.00	0.00	500,000.00	New
Singenge Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Kobodo Primary School	Fencing of school Compound and Gate Installation using treated wood posts and barbed wire.	500,000.00	0.00	500,000.00	New
Yago Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New

Ndere Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Nyandiwa Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
	Completion of Storey building: walling, casting of slab, fittings and roofing	7,850,000.00	Funded Kshs 4,250,000 in 2019/2020	3,600,000.00	Ongoing
Malela Primary School					
Ramoya Primary School	Completion of 1no. Classroom: Roofing, Plastering, fittings, flooring & painting	900,000.00	Funded Kshs 500,000 in 2018/2019	400,000.00	Ongoing
Kolwalo Primary School	Completion of 2no. Classrooms: Plastering, fittings, & painting@ 300,000	600,000.00	Foundation, Walling, Roofing and flooring were done by the Community	600,000.00	Ongoing
Kwoyo Primary School	Renovation of 7no. Classrooms: Roofing, Plastering, fittings, flooring & painting@ 200,000	1,400,000.00	0.00	1,400,000.00	New
Koduogo Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New

Osure Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Ndhiwa Primary School	Renovation of 5No. Classrooms: Fittings, Flooring and Painting @200,000	1,000,000.00	0.00	1,000,000.00	New
Rota Primary School	Renovation of 5no. Classrooms: Plastering, fittings, flooring & painting@ 200,000	1,000,000.00	0.00	1,000,000.00	New
Odhiambo Rambo Primary	Completion of 2No. classrooms: Plastering, fittings & painting@ 250,000	500,000.00	Foundation, Walling, Roofing and flooring were done by the Community	500,000.00	Ongoing
Miranga Primary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Osodo Primary School	Completion of 2No. classrooms: Plastering, fittings & painting@ 250,000	800,000.00	Funded Kshs.300,000 in 2013/2014	500,000.00	Ongoing
Rapedhi Primary School	Completion of 2No. Classrooms: Plastering, painting@ 150,000	300,000.00	Foundation, Walling, Roofing and flooring were done by the Community	300,000.00	Ongoing
Wanjawa Primary School	Completion of 2No. Classroom:: Plastering, fixing of doors and window, glazing, & painting@ 300,000	800,000.00	Foundation, Walling, Roofing were done by the Community	600,000.00	Ongoing

			Funded Kshs 200,000 in 2018/2019 for flooring.		
Kamasi Primary School	Completion of 2No. classrooms: Plastering, fittings, flooring & painting@ 250,000	500,000.00	Foundation, Walling and Roofing were done by the Community	500,000.00	Ongoing
Ngere Kwabai Primary School	Completion of renovation of 2No. classrooms: Plastering, fixing of doors and windows, & painting@ 200,000	800,000.00	Funded Kshs 400,000 in 2014/2015, flooring and roofing	400,000.00	Ongoing
Osani Primary School	Completion of 2No. classrooms: Roofing, Plastering, fittings, flooring & painting@ 400,000	800,000.00	Funded Kshs 400,000 in 2014/2015 for Roofing and Flooring of ongoing 2 Classrooms which were started by the Community.	800,000.00	Ongoing
Ruga Primary School	Completion of renovation of 2No. classrooms: External Plastering, Glazing, flooring & painting@ 250,000	900,000.00	Funded Kshs 400,000 in 2014/2015 for roofing and Internal Plastering	500,000.00	Ongoing
Abura Primary School	Installation of 25m³ pressed elevated steel tanks to BS1564, include for all cleats stays, bolts, nuts washers and jointing materials including 10m tower, cover to tank, tan enclosures, corrosion 3~ coats and DN80 outlet from the tank	3,000,000.00	0.00	3,000,000.00	New

Nyamos Primary School	Completion of 2No. classrooms Plastering, fittings, flooring & painting@ 200,000	400,000.00	Foundation, Walling, Flooring and Roofing were done by the Community	400,000.00	Ongoing
Misita Primary School	Completion of 1No. classroom: Plastering, flooring & painting@ 300,000	300,000.00	Foundation, Walling , Fitting, and Roofing were done by the Community	300,000.00	Ongoing
Nyandemra Primary School	Completion of 2No. classrooms: Plastering, flooring & painting@ 200,000	400,000.00	Foundation, Walling , Fitting, and Roofing were done by the Community	400,000.00	Ongoing
Nyandoto Primary School	Completion of 2No. classrooms: Plastering, flooring & painting@ 200,000	400,000.00	Foundation, Walling , Fitting, and Roofing were done by the Community	400,000.00	Ongoing
Osogo Primary School	Completion of 1No. classroom: Plastering, fittings, flooring & painting	900,000.00	Funded 600,000 in 2013/2014 Fy	300,000.00	Ongoing
Randhore Primary	Completion of renovation of 2No. classrooms: Fitting, Plastering, flooring & painting	950,000.00	Funded 350,000 in Fy 2014/2015 for Roofing	600,000.00	Ongoing
Opanga Primary School	Completion of 3No. classrooms: Plastering & painting@ 200,000	1,500,000.00	Funded Kshs 900,000 in 2019/2020	600,000.00	Ongoing
Omakoth Primary School	Completion of 1No. classrooms: Plastering, fittings, flooring & painting	900,000.00	Funded 500,000 in 2012/2013	400,000.00	Ongoing

Omakoth Primary School	Fencing of school Compound and Gate Installation using treated wood posts and barbed wire.	300,000.00	0.00	300,000.00	New
Radienya Primary School	Construction of 6 door pit latrines: Substructure and superstructure to completion	600,000.00	0.00	600,000.00	New
Manywanda Primary School	Construction of 6 door pit latrines: Substructure and superstructure to completion	600,000.00	0.00	600,000.00	New
Akala Primary School	Completion of 2No. Classrooms: Plastering, Painting, Fitting and Painting@300,000	900,000.00	Foundation of 1No. Classroom was imitated by the community Funded 300,000 in 2015/2016 Fy for walling and flooring	600,000.00	Ongoing
Nyangiendo Primary	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
St. Philip Mirogi Primary School	Completion of 2No. Classrooms: Plastering, fitting and Painting @200,000	700,000.00	Foundation, walling were done by the community. Funded Kshs 300,000 in 2015/2016 Fy for	400,000.00	Ongoing

			roofing		
Water Tanks	Purchase of a set of hand wash tank and stand for 200 Schools @ 8500.	1,700,000.00	0.00	1,700,000.00	New
Ranen Mikumu Primary	Completion of 1No. Classroom: Plastering, Painting, Fitting and Painting	1,000,000.00	Funded Kshs 600,000 in 2013/2014 Fy for foundation, walling and roofing	400,000.00	Ongoing
Kome Primary- Manywanda Primary School Road	Formation of 2 KM Access road connecting Primary School.	1,400,0000.00	0.00	1,400,000.00	New
Rakoro Primary School -Osure Primary School Road	Formation of 2 KM Access road connecting Primary School	700,000.00	0.00	700,000.00	New
Ndere Junction-Buche Primary School Road	Formation of 2 KM Access road connecting Primary School	1,000,000.000	0.00	1,000,000.000	New
Junction Got Kojowi- Opanga Primary School	Formation of 2.2km KM Access road connecting the Ngere Primary School to Nyoniang Primary School	1,100,000.000	0.00	1,100,000.000	New
Junction Nyamauro- Aluor Primary School	Murraming and Gravel Patching of 1.5km road	700,000.000	0.00	700,000.000	New
Junction Kamata- Manera Primary School	Routine Maintenance of 1.5 Km Road Connecting Miranga to Ralang Primary	900,000.00	0.00	900,000.00	New

Road	School				
Ogada Primary School Road-Kamenya Primary School Road	Routine Maintenance of 5.5Km Road Connecting Primary School	1,500,000.00	0.00	1,500,000.00	New
Junction Kobodo- Singenge Primary School Road	Murraming and Gravel Patching of 2.5km road	900,000.00	0.00	900,000.00	New
Junction Gonya-Ochol Primary School Road	Grading and Gravel Patching of 2km Road	1,000,000.00	0.00	1,000,000.00	New
Miranga Primary~ Ralang Primary Road	Grading and Gravel Patching of 2km Road	1,200,000.00	0.00	1,200,000.00	New
Adek Primary- Nyarath Secondary School Road	Heavy Grading and Gravel Patching of 300m Road connecting Adek Primary to Nyarath Secondary School	1,000,000.00	0.00	1,000,000.00	New
Oridi Girls Secondary School	Purchase of 52 seater school bus	7,500,000.00	0.00	7,500,000.00	New
	Completion of 1No. Classrooms: Fitting, Plastering, Flooring, Glazing and painting works@400,000	1,000,000.00	Funded Kshs 600,000 in 2019/2020 for completion of 2No. classroom.	400,000.00	Ongoing
Rarage Secondary School			The 2no. classrooms had been completed in 2019-20 fy and 1No. was not		

			done.		
Sango Secondary School	Completion of Storey building: walling, casting of slab, fittings and roofing.	2,900,000.00	Funded Kshs 900,000 in 2019/2020	2,000,000.00	Ongoing
Andiwo Secondary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Osure Secondary School	Construction of 1No. classroom: Foundation, Walling, Roofing, Fixing of door and windows, plastering, glazing and painting	900,000.00	0.00	900,000.00	New
Mirogi Boys Secondary School	Completion of 1No. Classroom: Roofing, Plastering, fittings, painting.	900,000.00	Funded Kshs.500,000 in 2018/2019	400,000.00	Ongoing
Mirogi Girls Secondary School	Completion of 1No. Classroom: Roofing, Plastering, fittings, painting.	900,000.00	Funded Kshs 500,000 in 2017/2018	400,000.00	Ongoing
Bongu Girls Secondary School	Completion of Girls Dormitory: Plastering, fittings, flooring & painting	1,200,000.00	Funded 600,0000 in 2017/2018	600,000.00	Ongoing
Ligodho Secondary School	Construction of 1No. classrooms: Substructure and superstructure to completion	900,000.00	0.00	900,000.00	New
Goyo Secondary School	Completion of 1No. Classroom: Plastering, fittings, flooring & painting	1,100,000.00	Funded Kshs 500,000 in 2017/2018	600,000.00	Ongoing

Rambusi Secondary	Completion of Dormitory: Plastering,	2,800,000.00	Funded 1,000,000 in	300,000.00	Ongoing
School	fittings, flooring & painting		2018/2019		
			Funded 1,500,000 in		
			2019/2020		
Wayara Secondary	Completion of 1No. classroom: Roofing,	900,000.00	Funded 500,000 in	400,000.00	Ongoing
School	Plastering, fittings, flooring & painting		2019/2020		
Alara Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Bishop Ochiel Nyagidha Girls Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Got Kojowi Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Lwanda Kawuor Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Mirogi Boys Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Ojode Pala Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Okota Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Ondati Secondary Schoo	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New

Rapedhi Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Ratanga Boys Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Sigama Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
St. Lucy Odhiambo Rambo Girls	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Nyamogo Girls Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Wachara Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Wayara Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Jabagre Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Nyarongi Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Nyarath Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New
Goyo Secondary School	Purchase of a set of 50 Lockers and Chairs @ 6,250	312,500.00	0.0	312,500.00	New

Ligodho Secondary School	Purchase of a set of 50 Lockers and	312,500.00	0.0	312,500.00	New
SCHOOL	Chairs @ 6,250				
Ndhiwa KMTC	Completion of Ndhiwa KMTC Storey	29,000,000.00	Funded Kshs 25,000,000	4,000,000.00	Ongoing
	Administration: Roofing, Plastering and Painting		in 2018/2019		
North Kabuoch Chiefs	Completion of chief's office: Plastering,	1,110,000.00	Funded Kshs 750 in	360,000.00	Ongoing
Office	fittings, flooring, Glazing& painting	, ,	2018/2019	,	
	Completion of Chiefs office: Plastering,	1,110,000.00	Funded Kshs 750 in	360,000.00	Ongoing
Kachola Chiefs Office	Fittings, Glazing, Flooring and Painting		2018/2019		
Kwandiku Chiefs Office	Completion of Chiefs Office: Plastering,	800,000.00	Funded Kshs 300,000 in	300,000.00	Ongoing
	fittings, painting.		2015/16		
			And Kshs 200,000 in		
			2016/2017		
Rachar Chiefs Office	Completion of Chiefs Office: Plastering,	1,110,000.00	Funded Kshs 750 in	360,000.00	Ongoing
	fittings, flooring & painting@ 360,000		2019/2020		
Kanyadoto West Chiefs	Completion of Chiefs Office: Plastering,	1,110,000.00	Funded Kshs 750 in	360,000.00	Ongoing
Office	fittings, flooring & painting@ 360,000		2019/2020		
Kanyadoto Central	Completion of Chiefs Office: Plastering,	1,110,000.00	Funded Kshs 750 in	360,000.00	Ongoing
Chiefs Office	fittings, flooring & painting@ 360,000		2019/2020		
Kachuth Chiefs Office	Construction of Chiefs Office:	500,000.00	0.00	500,000.00	New
	Substructure and superstructure to				
	completion				
Kamata Police Post	Construction of Police Post: Substructure	1,000,000.00	0.00	1,000,000.00	New

	and superstructure to completion				
Kanyikela Chiefs Office	Completion of Chiefs Office: Roofing, Plastering, fittings and painting.	1,110,000.00	Funded Kshs 750,000.00 in 2019/2020	360,000.00	Ongoing
Pala ICT Hub	Installation of Electricity and Fencing of the Compound	600,000.00	0.00	600,000.00	New
Kobodo ICT Hub	Installation of Electricity and Fencing of the Compound	600,000.00	0.00	600,000.00	New
DCIO Office	Construction of DCIO Offices and Pit Latrines: :Substructure and superstructure to completion	3,750,000.0	0.00	3,750,000.00	New
	TOTAL			137,088,879.31	

The committee then charged the Fund Account Manager to hurry the submission of projects since the timing was very bad. They committee observed that for the first time the proposals were being submitted late i.e. in the 2nd quarter of the year.

Min Ndhiwa NG~CDFC 04/2020/2021: AOB

There being no other business of	f the day, the meeting was	ended with a word of prayer from	Pauline Obossy at 4.23 Pm.
----------------------------------	----------------------------	----------------------------------	----------------------------

Signed by:

ecretary	Chairman
----------	----------